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Answer ALL questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

1 Write the following numbers in order of size.
Start with the smallest number.

0.41
0.40

0.5
0.500

0.46
0.460

0.408
0 408

2 Write down the value of the 2 in the number 12345

(Total for Question 2 is 1 mark)

4
3 Write g as a decimal.

(Total for Question 3 is 1 mark)

4  Write 19.4949 correct to the nearest whole number.

i
Tiow©

R S

(Total for Question 4 is 1 mark)

5 Here is a list of numbers.

5 11 18 22 29

From the list, write down a multiple of 3

(Total for Question 5 is 1 mark)
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6 The graph shows information about the average monthly temperature, in °C, in Amman.

A

26
24
22
20

18
Average monthly

temperature (°C) 16

14
12

10

8 > >
Jan Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec

Months

(a) For how many months was the average monthly temperature greater than 16°C?

(Total for Question 6 is 2 marks)
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7 208 bars of chocolate were sold from a shop. //.. X 20 8 = 512 (Lar%)
4

1
2 of these bars of chocolate were large bars. Z 08 — 52 = 1S 6
The rest of the bars of chocolate were small bars. ( S Ma.u

All the large bars of chocolate were sold for £1 each.
All the small bars of chocolate were sold for 60p each.

Work out the total amount of money for which the 208 bars of chocolate were sold.
Give your answer in pounds.

caxl = S
156 x0.6 = 936

52 + 93.6 = £145 60

e 145.60

(Total for Question 7 is 3 marks)
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8 Four students play a game.
The table shows the number of points each student has.

Student Ali Barbara | Calliope

Danesh

Number of points 143 121

45

19

Barbara has more points than Danesh.

(a) How many more?

121~ 19

(b) Work out the mean number of points.

J43 +121 145 + |1

¥

(Total for Question 8 is 3 marks)
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(a) Write down the coordinates of point A4.

(b) On the grid, mark with a cross (x) the point (1, 4)
Label this point B.

(1)

(¢) On the grid, draw the line with equation y =—3
1)

(Total for Question 9 is 3 marks)
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10 Here are the first three terms of a sequence.

20 16 13
—¢ -3

(1) Write down two numbers that could be the 4th and 5th terms of this sequence.

<
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(i) Write down the rule you used to get your numbers.

(Total for Question 10 is 2 marks)

11 Here is a cuboid.

RS

g 5cm
%
4cm

8cm

Work out the volume of the cuboid.

Y x4 x5

' SRR

AAAAAAAAAAAAAAAA | 60 o

(Total for Question 11 is 2 marks)
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12 Amol, Gemma and Harry each have a number of sweets.

/

The number of sweets that Gemma has is 6 times the number of sweets that Amol has.
The number of sweets that Harry has is half the number of sweets that Gemma has.

Write down the ratio 3

the number of sweets _ the number of sweets = the number of sweets
that Amol has " that Gemma has " that Harry has

X
% w %
%
’02;
RS
2007 9%
S
X X

Sl
00050 %%
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(Total for Question 12 is 2 marks)
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13 ABCD is a quadrilateral.

(a) (i) Work out the size of angle x.

30 — 10— 120 — O

................... 40 -

(i1) Give a reason for your answer.

............................ Q'\(jlumaqluainuwao‘d(:0360°

The diagram below shows a triangle.

The diagram is wrong. % O + é o + go — 101 O

(b) Explain why.

(Total for Question 13 is 3 marks)
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14 You can use this graph to change between ounces and grams.

A
1000

900

800

700

grams

600

500

400

300

v

10 15 20 25 30 35

ounces

(a) Change 850 grams to ounces.

................... 30 ounces

(b) Change 80 ounces to grams.
20 ovnces = 565 groms
XY ~ ¢
g O ounces — L1 60 2'2-60 ________ grams

(223% o 221¢)
(Total for Question 14 is 3 marks)
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15 2.5kg of onions and 2 kg of carrots cost a total of £2.36

3 kg of carrots cost £1.74

Stuart has £2
He wants to buy 4 kg of onions.

Does Stuart have enough money to buy 4 kg of onions?
You must show how you get your answer.

l-/mf - 0.53% Fe,( PU oy Carrdtd

il-lé PD( D,ltj Oy (.afV'DH

— .Slko ol
R A =z .20 ‘F‘Of Z
2 se - Wom

L%i :tal(_t,g P.e( LCJ o} OA:.D\A.S
1 .¢

O.48 ¥4 = £1.92 (4 uﬂ)

Jas.

(Total for Question 15 is 5 marks)
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16 There are three different types of potato in a box.

The table gives the number of each type of potato.

Type of potato | Number of potatoes

Jersey Royal 90
Charlotte 105
Maris Piper 105

Salim draws this pie chart for the information in the table.

Box of potatoes

Write down two different things that are wrong or misleading with this pie chart.

L The ol ere ncorreck - Jenty fogal i 10 PoLuLbU)

(Total for Question 16 is 2 marks)
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17 (a) Write 87569 correct to 3 significant figures.

77 s\e g
Sy §1600
5 of ot (1)

(32+3.7)x 49

53-28
Give your answer as a decimal.

(b) Work out

DONOTWRITE INTHIS AREA s

(Total for Question 17 is 3 marks)

2 |18

|
v S

Rotate the shaded shape 90° anticlockwise about (0,0)

(Total for Question 18 is 2 marks)
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19 Carly cycles to her friend’s house.
She stays at her friend’s house for a number of minutes.
Then she cycles home.

Here is the travel graph for her journey.

A
8

7

6

Distance
from home
(km)

1

Time of day

(a) For how many minutes did Carly stay at her friend’s house?

6836 v OF4S

(b) How far is Carly from her home at 08 50?

(c) Work out Carly’s speed, in km/h, for the first 20 minutes of her journey.

xsq,k,vl ‘IQA lo Mi/\,sxs
12 K A | Wevr

0 >
0800 0810 0820 0830 0840 0850 0900

(Total for Question 19 is 4 marks)
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20 Here is a list of ingredients for making 10 scones.

Ingredients for 10 scones

80 g butter
350 g self-raising flour
30 g sugar
2 eggs

Martin has

100 g butter
1 kg self-raising flour
50 g sugar
4 eggs

Martin wants to make 25 scones.
He has not got enough of some of the ingredients.

Work out how much more of each of these ingredients he needs.

-—

Flwr 0

«1.5
80)<Z's = 2.-0;
25oxl.5< 87

yoxr-5 = 15
2z x2S - 5

)00 9

——/

Mgl TS 5O = 209

fggs 7 S Tk =

— =

| 299

_

(Total for Question 20 is 4 marks)
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21 Make a the subject of the formula p =3a — 9

pr9 =9

Pl =
/
3

(Total for Question 21 is 2 marks)

22 Rob has been asked to divide 120 in the ratio 3:5 _
3+S<= %

Here is his working.
120 -3 =40 120+5=24

Rob’s working is not correct.

Describe what Rob has done wrong. . l 20
______________ KobSlﬂouMolW‘O‘elojg"‘z:w

(Total for Question 22 is 1 mark)
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23 200 students chose one language to study.
Each student chose one language from French or Spanish or German.

Of the 200 students,

90 are boys and the rest of the students are girls
70 chose Spanish

60 of the 104 students who chose French are boys
18 girls chose German.

Work out how many boys chose Spanish.

French Cl("ﬂam Sromsh ﬂ%—u[
Bog s 6O g 12 70
Gric (s 44 | § 48 /1 O
“Tobal ) 0 4 26 70 200

(Total for Question 23 is 3 marks)
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24 Karina has 4 tanks on her tractor.
Each tank is a cylinder with diameter 80 cm and height 160 cm.

<«80cm—» =40

N
N

160cm

N

The 4 tanks are to be filled completely with a mixture of fertiliser and water.

The fertiliser has to be mixed with water in the ratio 1:100 by volume.
Karina has 32 litres of fertiliser. )ol i)ll,f b

1 litre = 1000 cm?

Has Karina enough fertiliser for the 4 tanks?
You must show how you get your answer.

volume = Trf’ll'\’
= 17 (y2) (160) .
- 304247.7193
4 Lanles volume = 1#"80“'“?7'7
= 3214990 .¢77
{-}ooo

= 3217 Litres

3217 _ 3). 8§ |Xees ok {—Ul-;lh_u
lo|

Yes 31.85 < 3L
=

(Total for Question 24 is 4 marks)
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25 Triangle ABC and triangle DEF are similar.

22cm 20cm

B Aem C E F

(a) Work out the length of EF.

b x

(b) Work out the length of 4B.

12

(2)

(Total for Question 25 is 4 marks)
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26 One weekend the Keddie family is going to do a sports quiz and a music quiz.

The probability that the family will win the sports quiz is 0.3
The probability that the family will win the music quiz is 0.35

(a) Complete the probability tree diagram.

Sports quiz Music quiz

035 win
win

O. 65 do not win

0.35 win

do not win

0 . 65 do not win

(2)
(b) Work out the probability that the Keddie family will win both the sports quiz and the

0.3 X 0.35

(Total for Question 26 is 4 marks)
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27 (a) Change 8000cm® to m? ) IN = | pooo0o°
|00

| 00
gooo — (oo0o0eo o ocof

(b) Change a speed of 180 km per hour to metres per second.

|86 000 p per lour
— 60

2000 m gel piaukk
60
....................................................... metres per second

(Total for Question 27 is 4 marks)

28 There are 30 women and 20 men at a gym.

The mean height of all 50 people is 167.6cm
The mean height of the 20 men is 182cm

Work out the mean height of the 30 women.

50 x 67.4 = 8380 e

oV ?z, ‘”'>

20 X182 = Seuo (ERpn ot')
ML

I330— 3640 = 4140 [kl Leight ok |

41¥0 = 5%
3o 158 o

(Total for Question 28 is 3 marks)
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29 (a) Write 6.75 x 10* as an ordinary number.
0.000675
(1)
(b) Work out 220X 11066 ::140122 <107
Give your answer in standard form.
651200
S
b.592 x 10
S
L. 5L X 10
............................ (2)
(Total for Question 29 is 3 marks)
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(i) 2a—c¢

(

o

The vector d is drawn on the grid.

(b) From the point P, draw the vector 2d

) l
)+ (5) = (s (
[5]
s
U Y4

)~ () s

2)

NS
xef
1)

(Total for Question 30 is 4 marks)

TOTAL FOR PAPER IS 80 MARKS
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